Question Answer Marks | AOs Guidance
8 (a) -
—t 1 § It
Ml 3.4 | Finding at least 2 distinct values for 4
x |0 +0.5 1l *1.5 2 Need not be atable of values
h L i 4 1 . €L
5 25 10 65 25
h 0.2 |0.16 0.1 0.061538 | 0.04
M1 1.1a | Using rectangles forming UB for Allowbein M ma..rks Hanly
=2x0.5(0.2+0.16+0.1+0.061538) i il adth 055 Neadiiciba half the area considered.
Al 1.1 drawn
=0.522 to 3sf [3]
8 (b) 05 M1 1.1a | Using trapezium rule with 5 /2 values | Using the definite integral
e 27(0‘2 +0.04+2(0.16+0.1+0.06 1538)) FT ir%corrlz:cl h values for the M mark funcﬁonality of calculjtor
=0.221 (to 3 sf) Al 1.1 | Allow awrt 0.22 gives 0.2214297...
(2] So method must be seen.
8 (c) Volume = 2x(0.2208 x10) M1 1.1a | Condone missing factor of 2 for
method mark
— ?2: 1.1 | FTpart (b)




